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Abstract: Unification Gravitation Electromagnetism.  
 
This is the Universe: 
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The composition of all small electric interactions in the Universe makes the Universe itself; in fact, incidentally: 
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       (UNIFICATION GRAVITATION ELECTROMAGNETISM) 
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 is the classic radius of the electron)    

Moreover, incidentally: 
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  (where 

428 /1067,5 KmW is the Stefan-Boltzmann’s Constant) 
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-Being from Heisenberg: 2/ xp  (with the equality sign, out of simplicity and 

sJh  3410527,04/2/  ), we can say: 
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-In our galaxy (the Milky Way) the Sun is at a distance of 8,5kpc from the centre and should have a rotation speed 
of 160 km/s, if it were due only to baryonic matter, that is that of the stars and of all visible matter. But we know 
that, on the contrary, the Sun speed is 220 km/s. So we have a discrepancy Δv of 60 km/s: (Δv=220-160=60 

km/s).(1kpc=1000pc ; 1pc=1 Parsec= myl 161008,3.._26,3  ;  1 light year  l.y.= m151046,9  ) 

( mylkpcRGal
203 1062,2.._1071,275,8    is the distance of the Sun from the centre of the Milky Way) 

If the Sun were at a distance RGAL of 30 kpc, it would have had the same speed of 220 km/s, but the discrepancy 
Δv would have been higher. In general, we know from the rotation curves that:  

GalRkv  , where k =constant.  We realize that: 2
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Thank you. 
Leonardo RUBINO 

The mass is bigger than that visible (as claimed 
nowadays) and the density is that observed: 
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